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Fifth Semester
Mechanical Engineering
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PTDC Mech.
Scheme July 2008

PROCESS PLANNING ESTIMATING AND COSTING

Time : Three Hours Maximum Marks : 100

Attempt total five questions out of eight.

gl A6 H # Wi HeT g SR

i) Incase of any doubt or dispute, the English version question
should be treated as final.

Risedt oft W & wog aruar Rare & [Rufy § s s &
e Y I WA AR

Note : 1)

Define the process planning.
wrq e & afonfia Hifem
b) Explainthe following:
)  Productdesign
. i) Loading
=1 @t B
D Sag A
i) @i

¢) Write down the information required before the process planning.
' 6

mﬁﬁm%ﬁﬁm&mmﬁu’iaﬁﬁ%ﬂl

d) Write down the eight characteristics of mass production system.
8
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Explain the basic process operation. - 3

qerid WehH sl @) SHeEd

Explain the following operations: | 3

) Critical operations

i)  Qualifying operations
et Wil &) T
) wIi=E A

i T e

Write down criteria for selecting basic process operations. 6

- FOTT YR Wi & 9ae & Uewl/eRa) @ i

Write down the effect of product design on its cost. 8
G Bt foM1gT 71 Iuh et o) v iR

Explain the combined operations. 3
T S 1w .

Explain the make and buy decision. 3
e @ Wi fFivfa B s .

Explain the factors which imposes the limitation on manufacturing -
sequence, 6

fafor 77 @t Hiffa w2 9t vew @ TR

Write down information to be given in the route sheet and draw
the pro-forma of operation and route sheet. 8

we e F §F S arelt SR @ Rifes der sifer o we
dic &1 WIwinf o1 s T

Explain the meaning of Routing. 3
wicT &1 aref awsTEd

Explain the following; ' 3
)  Direct material cost

i)  Indirect material cost

=1 = aasE)
) ooy uopef @mg
W e ggref @
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? machine is 50% of its selling price. If administrative and :.:alcs
expenditure are 20% and 10% of its production cost [ESpCCle'I}(,'
then find out the profit per machine. )
v nefta o Reva 570 . 900 & Fep] SedreA @ sy el
&1 50% 21 af waw sk A @ Swed @a & PR

20% 3R 109% & @ Ry mefl @ s Hfi
d) A factory has following annual expenses. 8
i)  Costof material Rs.2,05,000/-
iy  Factory rent and insurance Rs.5,700/-
iy Depreciation cost of apparatus Rs.300/-
iv)  Direct labour cost Rs.1,90,000/-
v) - Administrative expenses Rs.5,600/-
vi)  Electricity expenses of factory Rs.1,300/-
vily Salary of Manager Rs.20,000/-
vili) Expenses on maintenance staff Rs.4,800/-
ix) ExpensesonAdvertiscment Rs.500/-
x)  Selling price of product Rs.5,00,000/-
Determine the following
1) Primecost
2) Factory cost
3) Sales overhead
4)  Profitper month
s e o At ol FETTER 2
p o ueed @ g . 2,035,000/
iy ) Revem @ 4 %. 5,700/-
i) SgeRn @ e . 300/-
) weas M Tl &, 1,90,000/-
F/2018/6257 PTO.
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A machine has selling prices Rs.900/-. The production cost of
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v P @@ %, 5,600/
W & R foeh @ . 1,300/-
Vi) WaeuE BT & . 20,000/-
i) mefl vEvEE wE R o . 4.800/-
x) e ® @ . 500/-
x) SR @7 fwd gea . 5,00,000/-
s Hifr
) wefie dmr
2) thed) drE
3) faspa SuRem
4) wufty qr @y
5. a) Explainthefollowing: 4
i) Factory expenses
)  Administrative expenses
et @) wemed
) heg) am
i) §IEE g
b)  Write down the methods of allocation of overhead. 4
SuR @ 6 Rawwr 6 fifegt ffau

¢) an- the manufacture of 1000 bolis an
unit undergoes the followin g expenses:

Direct materija] cost Rs350
expenses Rs75, facmry on
cost 30% of tota T actory
Rs1.025 per pie

gdinper piece to the anagement
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d nuts per hour, an industrial

» Direct labour cost Rs200, Direct
cost 150% of labour cost, office on
ce. Make cost Tilc bolt and nuts is sold at
I calculation to work out the losses of

12
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qaaaﬂaﬁﬁfﬁgmﬁnﬁmémaﬂazmm%%qﬁm@ﬁ
et Bl

geae qerf @@ = ®. 350, Vs HH And = %6, 200, WAy
ar =%, 75, Badt @ weae S dd a1 150%, S and
St @ @ 30% A e dee @ Ry qga . 1.025 8 dl
Yy dee @ ar g &t o Sif

a) Write down the objective of estimating. 4
o & Ieed farfan
b) A lathecenter is shown in fig. Caleulate the weight and material
cost. If the density of material is 7.8gm/cm? and cost of material
is Rs 10 perkg. _ 16
apfy § v Aw dex gufar mn d IES were & AR @
anrE & o St aft geref @1 g 7.8 /A o qe
%.10 nfey fepmn. &1
! T
|
60 _lso| e \OL | ©
L n
S ) -
500 k— 0 —%D%— 100 —
Alldimension in mm.
- a)  Explainthe following 4
i)  Tool approach
i)  Tool overtravel
=1 @ wmsgd)
) kiR afpeE
u R aftemd
F1201816257 PT.O.
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b)

c)
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Find out the machining time on a planner to machine a surface of
200cmx100cm size in two cuts, Take cutting speed as 30m/min,
and feed as 0.1cm/stroke. 6
200 A, x 100 Y, DR & TeTg P AR FefT R Q e
qoftfir w<d § o Wy & o A Al e & afy
30 diex/ e den vt 0.1 ¥t/ 8l

Two 1m long m.s plates of 9.5mm thickness are to be welded by
alap joint with a émm electrode. Calculate the labour cost, power
cost and consumption of electrode/m weld length. Assume
followingdata. htip://www.rgpvonline.com 10
)  Currentused =250 Amp

i)  Voltage =30 Volt

i) Welding speed = 12m/hr.

)  Electrode used =0.34kg/m of weld length

v)  Labour charge = Rs.2.5/hour

vi) Powercharges=Rs. 0.20/kWh.

vi) Cost of electrode = Rsd40/kg

viil)  Efficiency of machine = 60%

) Operation factor = 60%

Q1 Hfie & @ 9.5 el 2R e g aig
ﬁﬁ*m@m@ﬁﬁﬁ@mfﬁiﬂg:ﬁ
mﬂlwm.aﬁam,mzﬁwﬁﬁlmm
D I B R = 250 ot

i) AR =30 dee

i) AeTT A = 12 fi/e2

iv)

m@w:njqumﬁmi :
V) SHArE=w, 2.5

V) E HR = %, 0,20kWH

“ﬂ T B e = 40/fsn,

Vi) Rl Y gerar = 609

x) R R = 609%
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g. a) Definethefollowing inforging shop. 4
)  Shapeweight
i)  Netweight
wifefT ama § Fe=r 3 ofenfya St
) PR YR
iy R
b) Determine the length and weight of 10mm dia. rod from which
250 rivet show in fig. is made. Take. 6
)  Densityof material = Tgm/ce
i)  Scaleloss 5% of net weight
i)  Cutting loss 5% of net weight
iv) Shapeallowances = 5% of shape weight
v)  Rateof material = Rsd5kg
10 Bl ey & os &t T sl wR W A PR g
P g1 250 Rie angfy & gafd aER 7 o [
) ggrRd @ g = 7um/ade
i gudl @iy = ¢ YR & 5%
iiy @ = AR @ 5%
iv) 3R g = N "R Pl 5%
v) wmEf@ g = W.45kg
¢) Explainthe twodifferent allowances given to the pattem in brief.
]
v 7t 2 R R o R ofda @ GRW § T
d) Explainthe following in sheet metal shop. 5
)  Hemming '
i) Raising
Tl argenen H e @ G
Do
i) ¥oM oA Gl
o e ias
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